Mrs. Gregory & Mrs. Postlethwuite's group — Bronze Reasoning and problem solving

1a. Which shape is the odd one out?

1b. Which shape is the odd one out?
Explain how you know.

Explain how you know.
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2a. The six sided shape below has a

2b. The six sided shape below has a

perimeter of 28cm. What are the possible
missing measurements?

perimeter of 22cm. What are the possible
missing measurements?
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3a. Ben thinks that this shape has a

3b. Carly thinks that this shape has a
perimeter of 32cm. perimeter of 30cm.
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Do you agree? Convince me. Do you agree? Convince me.
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